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Diagram No.:
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Block Number (Type) Parameter

B001(Analog Ramp) : Gain  =1.0+

Offset=0

Point =0

Rate=4+

MaxL=500

StSp=250

L1=0

L2=1000

B002(Analog Ramp) : Gain  =1.0+

Offset=0

Point =0

Rate=5+

MaxL=250

StSp=0

L1=0

L2=1000

B003(Analog threshold trigger) : Gain=1.0+

Offset=0

On=250

Off=500

Point=0

B004(Analog threshold trigger) : Gain=1.0+

Offset=0

On=500

Off=750

Point=0

B005(Analog Ramp) : Gain  =1.0+

Offset=0

Point =0

Rate=3+

MaxL=750

StSp=500

L1=0

L2=1000

B006(Analog threshold trigger) : Gain=1.0+

Offset=0

On=750

Off=1000

Point=0

B007(Analog Ramp) : Gain  =1.0+

Offset=0

Point =0

Rate=2+

MaxL=1000

StSp=750

L1=0

L2=1000

B008(On-Delay) : Rem = off

05:00s+

B009(On-Delay) : Rem = off

05:00s+

B010(On-Delay) : Rem = off

05:00s+
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Block Number (Type) Parameter

B011(Analog MUX) : V1  =B2+

V2=B1

V3=B5

V4=B7

Point =0

B016(Latching Relay) : Rem = off

B017(Latching Relay) : Rem = off

B018(Latching Relay) : Rem = off

B019(Latching Relay) : Rem = off

B020(Max/Min) : Rem = off

Mode = 2

ResetMaxMin = false

B021(Analog Comparator) : On     =0

Off    =0

Gain   =1.25+

Offset =-250

Point=0

B023(Latching Relay) : Rem = off

B024(Mathematic instruction) : V1=680+

V2=0

V3=0

V4=0

Point=0

((680+0)+0)+0

B026(Latching Relay) : Rem = off

B033(Analog MUX) : V1  =B20+

V2=0

V3=0

V4=0

Point =0

B034(Latching Relay) : Rem = off

B037(Latching Relay) : Rem = off

B038(Off-Delay) : Rem = off

10:00s+
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Block Number (Type) Parameter

B039(Message texts) : Prio = 0

Quit = off

Text1: enabled

Text2: disabled

  - - - A T T E N T I E - - -                 

  M a a k  G E E N                      

  w i j z i g i n g e n                    

  Z O N D E R  o v e r l e g                 

  m e t  d e  V E M                  

  T e l . : 3 1 3 4 5 8                    

--> Ticker setting

  - CBC

  - Line1: N

  - Line2: N

  - Line3: N

  - Line4: N

Message Destination

  - Both
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Connection Label

I1

I2

I3

I4

I5

I6

I7

AI3

Q1

Q2

AQ1


